SR R 5 c@VF B TRERS

YUGONG COMPLETE EQUIPMENT

Pneumatic hall valve series
\?

Q641F-16P/R Q681F-16P/R
SaiE=1kE S BERRIFETRE
Pneumatic flanged ball valves Quick install ball valve pneumatic health level

Q681F-16P/R Q671F-16P/R Q614/5F-16P/R Q611F-64P/R
SANRISTKF SN ARFH RN FEIKiE SEN=1BERLIKIE SuEEELEKR
Pneumatic fast loading Pneumatic Italian thin ball valve Pneumatic tee threaded Pneumatic high-pressure
the ball valve to the damp ball valve thread ball valve

_m www.cnygvf.com

ENYGUE

Q684/5F-16P/R
SeI=E P 4R RIEEBKIF

Preumnatic tee health level fast
loading the ball valve

B=Q641F46-16C
SR =BK1E

Pneumatic rubber fluonne
flanged ball valves

Q641F-16P/R

EChriR =Bk Sa0iA=2kiE

With explosion-proof sanlian pieces

preumatic ﬂal‘ug;ed ball valves

SzNEkE R

Pneumatic hall valve series
\?-

Q611F-16P/R Q684/5F-16P/R Q691X-10U

S aNEE Ok S=iBEEREKE SHUPVCI S BkiE

Pneumatic screw thread Prneumatic tee ‘rumkey Pneurmatic UPVC double
ball vahve fast ball valve " :

by ball valve

VQ71H-16P/R Q644/5F-16P/R Q641F-16P/R
SaNVETIHTEKE S =i@iE=IkiE ERESE=IKIE

Pneumatic V cut off the ball Pneumatic tee flanged External requlation pneumnatic

ball valves flanged ball valves

-

-

W=
: As

Q611F-16P/R Q641F-16P/R
=R\ SERoBkE SE=RIiE=IXE
A three-stage pneumatic screw Pneumatic three-step flanged
thread ball valve ball valves

www.cnygvf.com m—



53 l 7N ; SRR
i clyvr B TAELE T ...
f?

; — S A

Pneumatic butterfly valve series
\T\?

D671X-16Q D671F-16P/R D671F46-16C

EoPo iR = BX{F S ahRd 2R ] [ENEF WX TR SENFT BT IR ]
Pneumatic full stainless steel Pneumatic fluorine-butterfly
butterfly valves to the damp butterfly valve to the damp

With explosion-proof sanlian pieces of
pneumatic butterfly valve to the damp

Rike= &

Ll

.

D671F-10Q D671X-16Q
TR SR SRR & ._
External requlation of pneumnati Pneumatic butterfly valve
butterfly vahve to the damp o the damp
' ' D681X-16P/R D671X-10P/R D673H-16P/R
M A S P E R R T B {Eea el AR R R Seh=mOEEH X EiRiE
Vertical fast loading butterfly valve With letter opener fast loading butt Three partial hardness pneumatic
pneumatic health level valve pneumatic health level sealing butterfly valve to the damp
o -
- -
» = -
'l .-L:;-.‘.:
D671X-10U D641X-10Q D671X-16Q D672H-16C
SIE=HE BoRBX {4 S 3 e 4k ) SRR &2 5 X e 2 ]
Pneumatic flange butterfly valve With two couplet a pneumatic butterfly Pneumnatic double hardness sealing
butterfly valve to the damp

&
D681X-10P/R
SahUPVCigfE
Pneumatic UPVC butterfly valve
www.cnygvi.com m_

D643H-16C
SHEERREER
Fast loading butterfly valve

SENEE A =151E
Pneumatic hard sealing flange
pneumatic health level

butterfly valve

_m www.cnygvi.com



_m www.cnygvi.com

SMAITRERY
Pneumatic actuator series
AV

TERARFRM
LIEE :

FiRa RN ESETRRESEN BEP RN TF30um.

 SIRED :
B/NSBREDEBASIRENDSE.
3 ERERE -
#rifE - -20°C ~ +80°C
{E3R:-40°C ~ +80°C
WiE:-20°C ~ +160°C
44730 :
0°FN90°Fm MU E
Bi5°MIATHEE
S{ERAS  EREENEE

afERZZ Operating type:
WEAIE{EA Double acting and spring return

c@vr i Lk EIS S
) -

YUGOMNG COMPLETE EQUIPMENT

Operating conditions:

1.0Operating media:

Dry or lubricated air, or the non-corrosive gasses

the maximum particle diameter must lessthan 30 p m
2.Air supply pressure:

The Min supply pressure is 2 Bar

The Max supply pressure is 8 Bar
3.0perating temperature:

Standard: -20°C ~ + 80°C

Low temperature:-40°C ~ + 80°C

High temperature: -20~ +160°C
4.Travel adjustment:

Have adjustment range of +5°for the rotation at 0°and 90°
5.Use occasions:Indoor or outdoor installation

SIRBOFE NAMUR fRf | BT S5 (it e,
Air supply connection is designed in accordance
with NAMUR Standard to install solenoid valves.

T{ERE Working Principle

W {E ADouble acting

] () () (=]
ST T T R

o g0 a- 90
4 B £ |l ugas
Anticlockwise Rotation Clockwise Rotation

B RINAMURIRAEREFOEL (& CABrRaEr Tl |
AR X, EMERENSIIEE. BETES o (SaFEila ==

The Mamur drive pinion and the Namur top mounting Bottom mounting connection is designed in accordance
connection permit direct installation of accessories
such as limit switch box and positioner.

[EEPESFLIBHTA1S05211. DIN33376RE ATkl

with IS05211 and DIM3337 standards for direct mounting
with valve gear boxes or mounting brackets.

B {EH spring returm

A= " (- }w ‘ -
2 i o

]
=

a° oF o
191 B Mt B 1
Counter Clockwise Rotation Clockwise Rotation
BEARAITREEAE

Spring positions of Spring Return Actuators

D@ Q& ey aves

SR G TiR B3 B8
aaprings Biprings Taprings 85prings
o &3

':EEEEE:. > o e .
OfE e 1 OfH 20 3 1 1R 35 5 1240

95prings 105prings 115prings 125prings

SEMITRERT

ENNENTE
GCNYGVUE Pneumatic actuator series
AV

WIEAH TR LB EERR:Nm)Double Acting Actuator Output Torque(Unit:Nm)

Be
Model

WMASIREES ( B4 : B ) Input air supply pressure (unit:Bar)

‘%‘
Ln
o
i;
oo

AT32D 3.1 4.7 6.2 7.8 9.4 11 12.5
AT52D 8.5 1257 17 21.2 25.5 297 34

ATE63D 15 22.5 30 7.5 449 52.4 59.7
AT/5D 21 31.8 42.4 53 63.6 74.2 84.8
ATE3D 32.5 48.7 65 81.2 97.4 113.7 130
AT92D 46.5 69.8 93 116.3 140 162.9 186
AT105D 69.3 104 138.5 173.2 207.8 242.5 277
AT125D 108 162 216 270 324 378 432
AT140D 184.7 277 369.5 461.8 554 646.5 739
AT160D 281.5 422 563 704 844 985 1126
AT190D 453 680 907 1135 1361 1587 1814
AT210D 554 831 1108 1384 1662 19349 2216
AT240D 814 1221 1628 2035 2442 2849 3256
AT270D 1236 1854 2472 3090 3708 4326 4944

B{EAMT=EMm B ( B4 : Nm) Spring Return Actuator Output Torque(Unit:Nm)

SRR & H D Output torque of air to spring 30568 LH 48
— Output torque
SiESE spring
Air supply pressure

4Bar 6Bar

gl—‘E % - b ; & o = ; L ] 1-:' {Jn
e HE |

Model Spring Froe | e

Qty Start End

8.8 13 13:0%. 11.6 5.4 4.0

5
6 8.0 6.3 122 10.5 | 16.5 14.8 6.5 4.7
7 8.2 5.2 11.5 9.4 157 | 13.7 | 200 | 178 7.6 3.5
AT52SR 8 6.4 4.1 10.7 8.3 34 904, 12.6 | 1920 168 | 2347 2]1.1 8.6 6.3
9 9.9 7.3 143 | 11.5 | 184 | 158 | 2206 | 20.0 | 269 | 24.3 9.7 7.1
10 9.1 6.2 13.3 LU E ORI 21.8 | 189 | 261 | 252 | 10@ 1.9
11 § 9.4 168 1136 | 210 | 179 | 253 | 22.1. | 119 8.7
12 11.8 8.3 i6,0 125 | 20.3 168 | 245 | 210 | 130 g9
5 15.7 12.5 23.1 20.0 9.9 6.8
6 14.3 1005 | 208 | 150 | 293 | 255 11.8 8.1
7 13.0 8.5 204 | 160 | 2729 | 235 | 354 | 31.0 139 9.5
AT63SR 8 11.6 6.5 191 | 14.0 | 26.6 | 21.5 | 34.0 | 290 | 415 | 365 159 | 108
9 7.7 | 120 | 252 | 195 | 327 | 270 | 40.2 | 345 | 47.6 | 420 | 179 | 122
10 164 | 100 | 238 | 175 | 313 | 250 | 388 | 325 | 46.3 | 400 | 389 | 1356
11 22.5 155 | 300 | 230 | 375 | 305 | 449 | 38.0 | 219 | 149
12 21.1 13.5 | 286 | 210 | 361 | 285 | 436 | 360 | 239 | 163
2 27.0 | 21.6 | 39.3 34.0 155 10.2
6 249 | 18.5 | 37.3 30.9 49,7 433 186 | 122
7 22.9 15.5 35.3 27.8 47.6 40.2 60.0 52.6 21.7 142
AT75SR 8 20.9 | 124 | 33.2 | 24.7 | 456 | 371 | 58,0 | 495 | 704 | 61.8 248 16.2
8 31.2 216 436 340 560 464 683 58.7 | 807 | 71.1 | 278 | 183
10 29.2 18.5 | 416 | 309 | 539 | 43.3 | 66.2 | 557 | 788 | 68.0 | 309 | 20.3
11 39.5 27.8 | 519 402 | 64.3 52.6 | 76,6 649 | 340 | 223
12 37.5 | 247 | 439 | 371 | 2.2 | 495 | 746 | 81.8 | 371 | 244

www.cnygvf.com m—



SHMITRER C@VF ET G TR SEMITRRT

Pneumatic actuator series YUGONG COMPLETE EQUIPMENT Pneumatic actuator series
B{EAITEEHEIE ( 24 : Nm ) Spring Return Actuator Output Torque(Unit:Nm) B{EAHMITEMLHAIE ( B4 : Nm ) Spring Return Actuator Output Torque(Unit:Nm)
SR EiRIEER H S5 Output torque of air to sprin | o SiE #4477 Output torque of air to sprinc —
puttora Pring | e E iR ~Pring 8 HE
SRS R : ; _ O m;::.;'fritr?rq».re SRS R _ g Out[:;utﬂ_t;:}rque
Air supply pressure | il Air supply pressure SR
90° 0° 90° 0°
iee=

Wiede Gw | R | @® | AR

End Start End Start
5 338 | 27.2 | 501 | 43.4 215 149 9 209 129 | 302 222 | 394 314 | 486 @407 | 579 @ 499 | 240 @ 160
z 300 | 220 | 471 | 391 \weaalllEEs 552 | 178 aos 10 191 103 @ 284 | 195 | 376 . 288 469 380 | 561 472 267 178
, 270 | 185 | ds1q R UK L 2R ane 201 | 208 11 266 | 169 | 358 | 261 | 451 | 353 | 543 | 446 | 293 | 196
: ' : ' : ' : : ' : 12 748 | 142 | 341 | 232 | 433 | 327 | 525 | 419 | 320 | 214
AT83S 8 249 143 412 305 574 467 736 63.0 899 79.2 344 23.8 - 286 222 427 362 201 136
9 382 | 262 | 544 | 424 | 707 | 587 | 869 | 749 | 1031 | 911 | 387 | 267 6 259 182 400 322 541 463 241 163
10 362 | 219 | 515 | 381 | 677 | 544 YV 839 | 706 | 1002 | 868 | 430 | 297 10 7 232 | 1410 373 | 282 | 513 | 423 | 654 | 564 281 190

20 101 : 4
11 485 | 33.8 647  50.1 810 @ 66.3 972 | 825 473 327 S - 0 gep| <42 | 486 | 393 | 827 | 52 ToNmars 221 | 218
| 9 318 202 | 459 343 600 483 | 741 | 624 | 881 @765 361 @ 245
12 455 295 618 458 78.0 620 942 782 516 35.6 10 201 | 162 | 432 | 303 | 573 | 443 | 713 | 584 | 854 | 725 | 401 | 272
5 48.0 = 395 713 | 62.8 30.3 218 11 405 | 263|545 | 403 | 686 | 5447 827 | 685 | 441 | 299
6 437 | 335 | 669 | 567  90.2 800 356 | 261 12 377 222 | 518 @ 363 @ 659 504 | 800 645 @481 326
7 | 393 | 274 | 628 | 507 | 8584 735 |1091 | 97.2 424 | 305 0 448 = 332 | 675 @ 559 349 | 232
8 349 214 582 446 815 679 1047 912 1280 114.4 484 349 2 P02 SIEFRIR 029 RIRIP0. | SOR RS b U
AT92S : : : : : : ' : ! : : ' 7 356 192 | 582 419 809 646 1036 873 488 | 325
10 495 | 325 728 | 558 96,0 79.0 119.3 1023 1426 1256 606 43.6 9 490 @ 280 | 717 | 507 | 943 733 | 1170 | 960 | 1397 | 1187 @ 627 | 418
1 68 4 49 7 91 7 730 1149 9623 1382 | 1195 | 666 47.9 10 443 210 670 437 B97 bb4d 1124 891 1351 | 1117 697 464
12 640 437 873 669 1106 902 1338 1135 727 52.3 11 624 367 | 851 | 594 | 1077 | 821 | 1304 | 1048 | 767 | 510
12 577 | 297 | 804 1"524 | 1031 | 751 ["1258 | 978 | “837 | 557
5 64.6 | 57.7 99.2 924 462 393 5 636 | aes | 956 | 730 TRIETT
6 56.7 48.5 91.4 83.1 1260 117.8 554 | 472 6 579 375 290 687 1202 998 560 3156
7 489 | 393 835 739 1182 1085 152.8 143.2 64.6 55.0 7 519 282 | 831 @ 593 1143 905 1455 1217 654 416
8  41.0 300 7507.0 647 1103 993 1449 1339 179.6 168.6 73.9 | 629 AT210S 8 | 460 188 | v72 @ 500 1083 812 | 1395 1123 | 1707 | 1435 747 | 475
AT1055 9 67.8 554 1024 90.1 1371 1247|1717 1593 206.3 194.0 831 70.7 § SERNNE e | 10 | S0 L AT MR- | a0 | 1600 | B0 | 590
' : : : : : i : ' : : : 10 653 @ 313 965 625 | 1276 937 1588 1248 1900 1560 934 594
10 59.9 46.2 94.6 B0ORB 1292 | 1155 1639 1501 1985 | 1847 923 78.6 11 905 531 1217 843 1529 1155 1840 1467 1027 653
11 86.7 | 71.6 1214 | 1062 156.0 1409 | 190.6 175.5| 101.6 86.5 12 846 438 1158 750 1469 1062 1781 1373 1121 713
12 78.9 624 1135 97.0 148.1 131.6 1828 1663 110.8 943 5 963 666 1452 1155 799 503
: =1 | wi |l 355 | it = = 6 862 506 1351 995 1840 1484 959 603
7 762 346 1250 835 1739 1324 2228 1812 1119 704
6 120 = 88 182 150 243 = 211 96 64 8 661 187 1150 675 1639 1164 2127 1652 2616 2141 1279 804
7 110 72 171 134 232 195 294 257 112 74 AT2405 9 1049 515 1538 1004 2027 1492 2525 1981 3004 2470 1439 905
8 99 56 161 | 118 | 222 | 179 | 283 | 241 | 345 | 302 128 85 10 949 355 | 1437 844 1926 1333 2415 1821 2903 2310 1599 1005
AT1255 9 150 102 211 163 273 225 334 286 395 347 144 96 H B e et eS| Es E  SRe A S R s Ik
= = - 201 | 147 | 262 | 208 | 323 | 270 | 385 | 331 | 160 | 106 13 1236 524 1725 1013 2213 1501 2702 1990 1919 1207
5 1431 1028 2118 1715 1033 630
11 190 131 251 193 313 254 374 315 175 117 6 1305 821 1992 1508 2679 2195 1240 = 756
12 179 | 115 | 241 | 177 | 302 | 2038 | 363 | 269 | 191 | 127 7 1179 615 1866 1302 2553 1989 3240 2676 1446 882
5 188 144 280 236 133 29 8 1053 408 1740 1095 @ 2427 1782 3114 2469 3801 3156 1653 1008
AT270S

: &5 || 5% || o2 || 66 | 595 || 540 §ik | 2t 9 1614 889 2301 1576 2988 2263 3675 2950 4363 3637 1860 1134
AT140S 10 1488 682 2175 1369 2862 2056 3549 2743 4237 3430 2066 1260
7 152 90 245 183 337 275 430 368 187 125 11 2049 1162 2736 1849 3423 2536 4111 3223 2273 1386
8 135 64 227 156 319 249 412 341 504 433 213 142 12 1923 956 2610 1643 3297 2330 3985 3017 2480 1512

_E www.cnygvi.com www.cnygvf.com m—



—= - P —c ‘=
S ITE R s : —— SR IT=ERT
Pneumatic actuator series CN\I?’VF £@£ﬁ§!§,§ ENVGUE Pneumatic actuator series
' \'g
AT Pneumatic actuator AT Pneumatic actuator

ATEISEINITES

SRR ~FGeneral Drawing

4xL

|

ATRISEIITER

ZHF#E Parts and Materials

e b1

ZHEFR Parts name

B]i%#1¥} Optional materials

1 IET-2B8E5 T Indicator screw “ #a% Plastic
2 jS7<22 Indicator 1 #a¥] Plastic
. _ y _ 3 - Spring clip 1 A~£%4p Stainless steel
G1/4"NUMAR 5 G1/2"NUMAR &g :
G1/4'NUMAR Standard  G1/2*NUMAR Standard 4 HE Washer 1 AN Stainless steel
5 HMEE Outer gasket 1 T#2%¥| Engineering plastics
6 L% Cylinder body 1 £548 Cast aluminum EEFESE M Hard anodizing
7 W F Inner gasket 1 T#2¥8#} Engineering plastics
_ _ = B 4% Cam 1 SEH Alloy steel ./ TEE Rz Viton/Silicone rubber
BmEModel 7 Y m{?“gui‘jpw 9 44O/ Oring(Pinion top) 1 T hEt&E NBR
e 10 3347 Bearing(Pinion top) 1 T#2¥E#| Engineering plastics
AT32 ' DAJSR| 225 225 20 45 | 99 30 50 FO3 M5x8 9=9 15 | 153 34 G1/8 : : :
/ s s / 11 5% Pinion 1 & Alloy steel §558 Nickel plating A% Stainless steel
AT52 DA/SR 30 41 20 72 115 30 80 FO3 Fo5 M5x8 MeEx10 11x11 15 174 108 34 G1/4" 12 Tl Bearing(Pinion botom) 1 T#2#¥ Engineering plastics
AT63 DA/SR 36 46 20 89 | 126 | 30 80 FO5 FO7 M6x10 MBx12 14x14 15 189 126 34 G1/4" 13 T3HOE Oring(Pinion botom) 1 T HEERE NBR 95,/ 1E8 87 Viton/Silicone rubber
AT75 DA/SR 42 52 20 100 135 30 80 FO5 F07 M6x10 M8x12 14x14 15 215 128 34  G1/4" 14 153k Plug 2 JHBERAZ NBR /AR Vim”ﬁi:im“@ rubber
s TS : = = : e
AT83 DA/SR 46 55 20 109 145 30 80 FO5 F07 M6x10 M8x12 14x14 15 247 152 34  Gl/4" 35 IV OMAGIHSK G ScHaw CHNG, | o TR NBR WA Viton/Sticone rbber
16 AT IRE]EEE Adjusting screw nut 2 A~§54M Stainless steel
AT92 DA/SR 51 575 20 117 162 30 80 FO5 F07 M6x10 M8x12 17x17 17 277 173 41  Gl1/4" 17 i@759242 Adjusting bolt 2 REEH Stainless steel
AT105 DA/SR 58 64 20 | 134 | 195 | 30 80 FO7 F10 M8x12 M10x16 22x22 25 310 189 41 G1/4" 18 itiz= Piston 2 ¢8/%5% Engineering plastics  S|#/¥# ¥ Oxidation/Zinc plating A~55%4M Stainless steel
AT125 DA/SR 675 70 30 157 212 30 80 FO7 F10 M8x12 M10x16 22x22 25 393 209 41  G1/4" i E:j;ﬁ:*m”;“ide g Iﬁiﬁ Engi"EE“"G P:ﬂﬂics
. itaze /R Piston bearing TFREEHE Engineering plastics
FRLAD LDARR| 76 | 77| S8 | AT 228 | 30 |30 | F) | Fra [MPOSIOMMIZNA0 27ie27 | 30| 470: 284 | 162 | GLMA 21 %20 Piston Oring 2 TSI NBR 8L/ Viton/Silicone rubber
AT160 DA/SR 865 875 30 199 229 30 130 F10 F12 MI10x16 M12x20 27x27 30 308 62 G1/4" 22 3% Spring 132 S Spring steel 787 Dipping paint
AT190 DA/SR| 103 103 30 233 263 30 130 F10 F12 MI10x16 M12x20 36x36 34 62 G1/4" 23 i 2O End cover Oring 2 THEISE: NBR &1/5EE R Viton/Silicone rubber
AT210 DA/SR 113 113 30 257 287 30 130 - Fl12 -  MI12x20 36x36 34 79 G4 1 b : AR I Bc i Pawder costieg
25 ISR End cover bolt 8 A~§E4M Stainless steel
AT270 DA/SR 146 146 30 333 363 30 130 * F16 = M20x24 46x46 52 79 G1/4° 27 [RETEEE Limit nut 2 A-558 Stainless steel

_m www.cnygvf.com

www.cnygvf.com m—



Q641F-16P/R Q611F-16P/R

SAATAELIRIE — SEABLIIRIE
Pneumatic high platiorm flange ball valve SAMEN Pneumatic thread ball valve
\ N\

YUGOMNG COMPLETE EQUIPMENT

c@vr i Lk EIS S
) -

mASH

MTEEE : -20°C ~ +180°C
R E:-20°C ~ +60°C
FRIEN0~1.6MPa
S PHESE | =25
SiEEH : 0.3~0.8MPa
#Htg : DN15-DN200
WE{EH4E : CF8 CF8M
HEJEEFA R : PTFE
HEtT 14 E:304
EHEMENBR

Technical parameters
Medium temperature: - 20 °C ~ + 180°C

mASE

HERIRE : -20°C ~ +180°C
R E:-20°C ~ +60°C
SFRIES:0~4.0MPa
BHESE  PESEK , 5
SiIEEN : 0.3~0.8MPa
HI#& : DN15~DN100
{4 E : CF8 CF8M
WREEHA & : PTFE

44 [E:304
EHEMENBR

Technical parameters
Medium temperature: - 20 °C~ + 180°C

A \5]
“ Ambient temperature: - 20 °C ~ + 60°C uily éfé__ Ambient temperature: - 20°C ~ + 60 °C
Nominal pressure: 0 ~ 1.6 MPa i ’;J e Nominal pressure: 0 ~ 40 MPa
- Control gas, gas, air ! Control gas, gas, air
L f Air pressure: 0.3 ~ 0.8 MPa LHIII | : I r-'ltll'J Air pressure: 03 ~ 08 MPa
r \ Specification: DN15 - DN200 i B Spedfication: DN15~DN100
e ¥ T The valve body material: CF8 CF8M i The valve body material: CF8 CF8M
N\ seat material PTFE et = seat material PTFE
. T N-cH ““ | Stem matenal: 304 ; _ﬂ Stem matenal: 304
T Sealing nng matenal: NBR £. Sealing ning matenal: NBR
I L -
QB641F-16P/R Q611F-16P/R

SHBTFEEZRG

[N

Bl & | : HiTER B o
L T D C N-M Actuator model d L Actuator
DN15 130 14 2 95 65 45 163 164 4-®14 AT63 12" 15 - 146 137 ATEO
DNZ0 140 15 2 105 75 54 163 170 4014 AT63
3/4" 20 80 146 141 AT50
DNZ25 150 16 2 115 85 65 163 175 4-®14 AT63
DN32 165 16 3 135 100 78 163 184 4-018 AT63 T 25 90 146 151 ATS0
DIN40 180 17 2 145 110 85 214 214 4018 AT75 114 1 110 163 172 -
DN50 200 18 2 160 125 100 252 225 4018 AT8S
11/2" 38 120 163 185 ATG3
DNG5 220 18 2 180 145 120 252 253 4-®18 ATBS
DINBO 250 18 2 195 160 135 315 296 818 AT115 2" 20 140 214 209 AT75
DN100 280 20 2 215 180 155 354 322 8018 AT125 212" 65 185 252 240 o
DN125 320 22 3 245 210 185 418 408 8018 AT145
3* 78 205 270 264 AT100
DN150 360 24 3 280 240 210 450 465 8-022 AT160
DN200 400 26 3 335 295 265 530 552 12-022 AT210 % 98 240 316 310 AT115

_m www.cnygvi.com

www.cnygvf.com m—



Q681F-10P/R

SENBERRFZIKE

Pneumatic sanitary quick-install ball vaive

AV

®19
P25
@32
®38
®©45
®51
@57
P63
P76
@39
®102
©114
®133
®159

_m www.cnygvi.com

(L)

£ [ 2

ey

108
112
125
135
150
160
170
178
220
240
270
320

480

Q681F-10P/R
SEN BER RIS ERE

16
22

35
42

53
59
72
85
97
108
125
150

505
50.5
50.5
50.5

775
115
91
106
119
130
145
172

7\
CNYGVF
N’

mASEH

TR

g : ©19-0159

R R

: CF8 CF8M

 PTFE

R F:304
B4{E) 1 5 NBR

Technical parameters
Medium temperature: - 20 °C ~ + 180°C

Ambient temperature: - 20 °C ~ + 60 °C
Nominal pressure: 0 ~ 1.0 MPa

Control gas, gas, air

Air pressure: 0.3 ~ 0.8 MPa
Specification: ©@19-®159
The valve body material: CF8 CF8M

seat matenal PTFE
Stem matenal: 304

Sealing ring matenal: NBR

146
146
146
163
163
214
214
252
252
270
316
316
354
350

M7=
Actuator

144
149
156
180
192
205
212
225
230
265
295
300
312
350

20°C ~ +180°C
SR E:-20°C ~ +60°C
IFREN:0~1.0MPa

BHISE  PHESE =
SiEESD : 0.3~0.8MPa

A LRI

YUGOMNG COMPLETE EQUIPMENT

ATS0
ATS0
AT50
ATE3
AT6E3
AT75
AT75
ATE8
ATB8
AT100
AT115
AT115
AT125
AT145

ENVGUE

H1
5

“ET

L1

L

VQB41F-16P/R
SENVELR R Bk

model

DIN25

DIN32

DN40

DIN50

DMNB5

DINEO0

DN100

DIN125

DIN150

DIN200

DINZ250

45

50

62

13

90

T

134

164

206

260

76

84

100

118

132

158

184

216

268

326

60

60

i

100

100

115

129

160

200

240

o o
38 b8 50 30 163 248

35

35

43

50

57

65

8

95

120

148

Q641F-16P/R

SaNVEIXT K

Pneumatic V-shaped wafer ball valve

mASH

TERIRE : -20°C ~ +180°C
R E:-20°C ~ +60°C
NFRES:0~1.6MPa
BEHSE  PESEK , =5
SiREND : 0.3~0.8MPa
H4& : DN25-DN250
A E : CF8 CF8M
EEHE : PTFE EESS
I+ #4 & 304

EI B BRNBR

Technical parameters

‘;‘?

Medium temperature: - 20 °C ~ + 180 °C
Ambient temperature: - 20 °C ~ + 60 °C

Nominal pressure: 0 ~ 1.6 MPa
Control gas, gas, air

Air pressure: 03 ~ 0.8 MPa
Spedification; DN25 - DN250

The valve body material: CF8 CF8M

seat matenial: carbide PTFE
Stem matenal: 304
Sealing ring matenal: NBR

214 270
214 275
252 295
270 322
316 362
354 387
418 423
450 475
518 535
530 615

93

108

123

138

148

170

200

240

i
Actuator

ATb3

AT75
AT75
ATE8

AT100

AT115

AT125

AT145

AT160

AT190

AT210

www.cnygvf.com m—



D671F-10P/R

SaNFI TR

AV

2Dl

DMN50 50

DINBS 64

D8O 76
DN100 102
DN125 123
DN150 146
DN200 203
DMN250 250
DIN300 300

_m www.cnygvi.com

43

52

56

56

18

D671F-10P/R
SR R ]

BS
ISR
DN4D 38 33 83 98.5 110 146 62 232

99

115

130

150

180

207

265

314

370

120

1395

146

178

210

230

295

395

125

145

160

1905

216

238

295

358

425

163

163

163

214

252

270

354

418

450

YUGOMNG COMPLETE EQUIPMENT

c@vr i Lk EIS S
) -

mASH

TrEEE : -20°C ~ +180°C
RIRE-20°C ~ +60°C
InFRIEST0~1.6MPa
EHRSE . PHSE , 25
SiEEAH : 0.3~0.8MPa
142 : DN40-DN300
WEVR4 R  WCB CF8 CF8M
WEEE#A R : PTFE EPDM NBR FPM
We 147 [f:304
EHEMENBR

Technical parameters

Medium temperature: - 20 °C ~ + 180 °C
Ambient temperature: - 20 °C ~ + 60 °C
Nominal pressure: 0 ~ 1.6 MPa

Control gas, gas, air

Air pressure: 0.3 ~ 0.8 MPa

Specification: DIN40-DN300

The valve body materiat WICB CF8 CF8M
seat matenal: EPDM, NER FPM PTFE
Stem matenal: 304

Sealing ring matenal: NBR

4-¢18
62 260 4-P18
80 265 4-p18
90 275 4-®19
105 306 4-®19
118 330 4-0L2
130 354 4-©22
165 427 4-22
200 462 4-0lb
232 522 4-026

I
Actuator

ATS0

AlbB3

ATE3

Alb3

AlT75

AT88

AT100

AT125

AT145

AT160

ENVGUE

ElENER
model

DIN50

DINB5

DINB0
DN100
DN125
DN150
DNZ200
DN250
DN300
DMN350
DIN4DO
DIN450
DN500
DNE00

.
b

00
L

® 9

LA

ih

LY
S jf%
! r BN e

£

L]

-

D641X-16C
SENE=EME

108 165 125
112 185 145
114 200 160
127 220 180
140 250 210
140 285 240
152 340 295
165 405 335
178 460 410
190 520 470
216 580 525
222 640 585
229 115 650
267 840 770

102
122
133
158
184
212
268
320
370
430

532
585
685

20
20

24
26
28
28
30
30
30

32

36

mASH

MTEREE : -20°C ~ +150°C
R E-20°C ~ +60°C
InFRIES0~1.6MPa
EHRSE . pESE | =5
SiEEH : 0.3~0.8MPa
#1#8 : DN50-DN600
WE{F#4 & . WCB CF8 CF8M
et R : WCB Cf8 CF8M
WEEEMS [ : EPDM NBR FPM
e [5:304

= EMENBR

Technical parameters

Medium temperature: - 20 °C ~ + 150°C
Ambient temperature: - 20 °C ~ + 60 °C
Nominal pressure: 0 ~ 1.6 MPa

Control gas, gas, air

Air pressure: 03 ~ 0.8 MPa
Spedfication:DN50~DN600

The valve body material: WCB CF8 CF8M
The valve material: WCB Cf8 CF8M

The seat matenal: EFDM, NBR. FPM
Sterm matenial: 304

Sealing ring material: NBR

214 320 4-18

214 323 4-18
214 335 g8-18
252 390 8-18
270 408 8-18
316 458 8-22
354 512 12-23
418 570 12-26
450 640 16-26
518 700 16-23
530 755 16-30
660 772 16-30
730 852 16-26
880 930 16-30

D641X-16C

SaNiE=10%514

Pneumatic flange hutterfly valve

AlTS
ATT5
Al75
Al88
AT100
AT115
AlZ5
AT145
AT160
AT190
ATZ210
AT240
AT270
AT300

www.cnygvf.com m—



Q644(5)F(N. P. H. Y)-PN16. 25
Pneumatic sanitary quick-install butterfly valve LS Pneumatic three-way ball vaive
\ >

D681X-10P/R

YUGOMNG COMPLETE EQUIPMENT

c@vr i Lk EIS S
) -

RASH

SFRIES: 1.6, 2.5, 4.0, 6.4MPa;
150Lb, 300Lb. 600Lb

&1 F=3l. RELEL

RI%nAE: BEfs. =, BiF

H#g&: DN15-300mm

@it : WCB CF8 CF8M CF3 CF3M

R BNEIE (F)
XHZERPPL (P)
WEESEM (H. Y)

{EFA: TWEM. B{ER (GEfEA)

FHloIL: HE. o, 8t

mASH

TTEIERE ; -20°C ~+120°C
R E:-20°C ~ +60°C
InFRIES0~1.0MPa
EHSHE . PESE , 25
SiREH :0.3~0.8MPa
Mg - ©19-9219
MR E ; 304, 316
iEtRifE : CF8 CF8M
WEEERL & : EPDM NBR FPM
M4 [E: 304

A & EHEERNBR
rﬁ 4
|
GIE) Technical parameters Technical Parameters
= _;JiL ...... 1.4 Medium temperature: - 20 °C ~ + 120°C Nominal pressure: 1.6, 2.5, 4.0, 6.4MPa;
® e Ambient temperature: - 20 °C ~ + 60 °C 150Lb, 300Lb, 600Lb
= - i 1
pe Nominal pressure: 0 ~ 1.0 MPa Structure: flange type, intemal thread type

Size standard: GB, AP, JIS

Specification: DN15-300mm

Body matenal: WCB CF8 CF8M CF3 CF3M

Seat matenial: polytetrafiuoroethylene (F),
para-polyphenylene PPL (P),

Control gas, gas, air

Air pressure: 0.3 ~ 0.8 MPa
Specification: ®19-0219

The valve body material 304, 316

=

“_TLJ’_ R

: 3 The seat melxterial: EPDM, NBR FPM Mode of action: double action, single action (spring returmn)
, Stem material: 304 Control mode: commutation, divert, merge

Sealing ring matenal: NBR

_m www.cnygvf.com

D681X-10P/R
S BERRERR
Nominal diameter EE R~ Connecting Size
& = ' MiTes
®19 66 16 191 252 8 146 165 AT0 15 112 150 72 1417159  71/83  240/235 95 65 46 14 2 4014
25 66 2 254 505 78 146 165 ATS0 _
20 3/4 160 80 159211 83/95  240/252 105 75 56 16 2 4014
®32 66 29 318 505 78 146 165 ATSO
o= = - - 505 ” 186 160 ATEO 25 1 180 %0 211/248  95/107 = 257/265 115 85 65 16 2 4014
®45 70 a2 451 64 €0 146 175 ATS0 32 11/4 200 100 211/248 950107 = 277/312 140 100 76 18 3 4-®18
®51 76 48 508 64 102 163 150 ATe3 40 112 220 110 248/269 107123 292/317 150 110 84 18 4-018
®57 53 571 775 106 163 195 ATE3
50 2 240 120 248/345  107/152  325/347 165 125 99 20 4-®18
D63 80 59 635 775 115 163 200 AT63
o = — e = = - - = 65 2172 260 130 315/409 141172 357/389 185 145 118 20 4-018
®89 90 85 889 106 139 214 215 AT7S 80 3 280 140 345/409 152172 368/400 200 160 132 20 8-®18
®102 %0 %8 1016 119 154 214 220 AT75 100 4 320 160 409/550  172/215 4104498 220 180 156 22 8018
®108 90 104 108 119 154 252 230 AT8S
125 5 380 190 438/600  187/240 = 470/538 250 210 184 22 8-®18
®133 122 127 133 145 185 252 242 ATSS
15 s o s e s = o o= 150 6 440 220 550/633 ~ 215/262 = 556/591 285 240 211 24 822
©219 132 711 219 733 290 354 325 AT125 200 8 550 260 600/730 210/330 B648/687 340 295 266 24 12-@22

www.cnygvf.com m—



